Dividing Roman Numerals (C)

10.

Answer each question in Roman numerals.

. LVI + VII

- XXX + 11

. XXX = XV

- XX+ X

LXXVIII + XXXIX

XLIT + VII

LXXXVIII + XI

. XCVIII + X1V

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

LXXX + X

XXXVI + [V

LXIV + VIII

XLV + XV

XC+1IX

LIV = VI

XXXVI + IV

XVIII + IX

XX +V

LXXXIV + XII
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Dividing Roman Numerals (C) Answers

10.

Answer each question in Roman numerals.

. LVI + VII

= VIII

- XXX + 11

=X

. XXX = XV

=11

- XX+ X

=1I

LXXVIII + XXXIX
=1I

XLIT + VII
= VI

LXXXVIII + XI
= VIII

. XCVIII + XIV

= VII

L+V

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

LXXX + X
= VIII

XXXVI + [V
=IX

LXIV + VIII
= VIII

XLV + XV
= II1

XC+1IX
=X

LIV = VI
=X

XXXVI + IV
=X

XVIII + IX
=11

XX +V
=1V

LXXXIV + XII

= VII
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